National Testing Agency

Notations:
1.0ptions shown in green color and with +" icon are correct.
2.0ptions shown in red color and with # icon are incorrect.

Question Paper Name: 36 Assamese 27th Aug 2024 Shift 2
Subject Name: 36 Assamese
Creation Date : 2024-08-27 20:57:32
Duration : 180

Total Marks : 300

Display Marks: Yes

Change Font Color : No

Change Background Color : No

Change Theme: No

Help Button: No

Show Reports : No

Show Progress Bar : No

Assamese and General Paper

Group Number : 1

Group Id : 34212346
Group Maximum Duration : 0

Group Minimum Duration : 180
Show Attended Group?: No

Edit Attended Group?: No
Break time: 0

Group Marks : 300

General Paper

Section Id : 342123103
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 42
Number of Questions to be attempted : 42

Section Marks : 100



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 342123303
Question Shuffling Allowed : No

Question Id : 3421237651 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

The following table shows the mumber of viewers of four different TV channels, namely, JIO,
ZEE, SONY and COLORS in six different cities A-F, along with the ratio male (M) to females
(F) among them. Based on the data in the tables, answer the questions that follow:

City-wise Details of Viewers

Viewers of TV Channel
City 10 ZEE SONY | COLORS
Total | M:F | Total | MCF [ Total [M:F | Total | M:F
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Sub questions

Question Number : 1 Question Id : 3421237652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the average number of female viewers of Zee TV taking all six cities together?

1. 1242

]

. 1262
3. 1282

4. 1302

Question Number : 2 Question Id : 3421237653 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The total number of female viewers of COLORS TV from city C is approximately % of
the total number of female viewers of JIO from city A.

1.82
2. 88
3.96

4. 108

Question Number : 3 Question Id : 3421237654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The average number of male viewers of SONY TV from all the six cities together is
approximately % of the six cities of viewers of JIO TV from city D.

1. 30

Question Number : 4 Question Id : 3421237655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The number of male viewers of ZEE TV from city C is approximately % more than
the number of female viewers of SONY TV from city F?

1.124
2.15.2
3.173
4.18.6

Question Number : 5 Question Id : 3421237656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the difference between the total number of male viewers and female viewers of ZEE TV
from all six cities?

1.710
2.704
3.706

4.708

Question Id : 3421237651 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 3421237652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 1242
2. 1262
3.1282
4. 1302

Question Number : 2 Question Id : 3421237653 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 82

3.96

4. 108

Question Number : 3 Question Id : 3421237654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 4 Question Id : 3421237655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.124
2.152
3,115

4.18.6

Question Number : 5 Question Id : 3421237656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.710
2.704
3. 706

4.708

Sub-Section Number : 2
Sub-Section Id : 342123304
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 3421237657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Terms Meaning
A Declm‘at_n‘e I. | The retention of information about the where and when of life's happenings
Memory
B. el Il | Astudent's general knowledge about the world
Memory G 2

The conscious recollection of information such as specific facts or events

. |Benchs Memory: | 1 that can be verbally communicated

D. |Semantic Memory | IV. [Knowledge in the form of skills and cognitive operations

Choose the eorrect answer from the options given below:
[. A-IV, B-IIL, C-I1, D-I
2. AL B-IV, C-1, D-II
3. A-IL, B-IIT, C-IV, D-1
4. AL B-IL C-IIL, D-IV

Question Number : 6 Question Id : 3421237657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. A-IV, B-IIL, C-II, D-1I
2. A-IIL B-IV, C-I, D-II
3. AL B-IIL, C-IV, D-I

4. A-L B-II, CII1, D-IV

Question Number : 7 Question Id : 3421237658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Use of learning strategies and tactics reflects:

1. Intellectual Humility

[

. Overlearning
3. Rote laerning

4. Meta cognitive knowledge

Question Number : 7 Question Id : 3421237658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 8 Question Id : 3421237659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LISTII
Swayamprabha DTH Channel No Channel Name
A | Channel - 03 I. |VIDHIK
B. |Channel - 06 II. JARYABHATT
C. | Channel - 07 III. [EAUTILIYA
D. |Channel - 08 IV. |PRABANDHAN

Choose the correct answer from the options given below:

1. A-II, B-IV, C-III, D-I

(]

. A-III, B-I1, C-IV, D-1
3. A-1IV, B-1, C-1II, D-11

4. A-IV, B-1II, C-II, D-I

Question Number : 8 Question Id : 3421237659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IL, B-IV, C-111, D-1

[

. A-IIL B-11, C-1IV, D-1

[

. A-IV, B-1, C-III, D-II

4. A-IV, B-111, C-1II, D-I

Question Number : 9 Question Id : 3421237660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the explanations of Pedagogical Teacher's Dilemmas of
constructivism in practice?

A. Developing deeper knowledge of subject matter

B. Managing new ideas of discourse and collaborative work in the classroom

C. Honoring students attempt to think for themselves which remaining faithful to the accepted
disciplinary ideas

D. Mastering the art of facilitation

E. Confronting issues of accountability with various stakeholders in the school community

Choose the correct answer from the options given below:

I.A, B,CandD only
2.D, and E only
3.A,Band C only

4.B.Cand E only



Question Number : 9 Question Id : 3421237660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIS o Sy | fgfeife o feh & i Al iy gfawnat @ ore ¢

A, a9 9% &1 311 78 JH b Rd 1|
B. {1 & U fuR 3R % | HifieR 7ol rd &1 Tee He|

C. Wi fqgd faari & Wid SHFER 3gd gu faeniial & @d & fau iR e &
T BT G BT

D, HI &1 i el H (A0l
E. faeyTery Yer ¥ fafis fed YR b 91 TR o HIH Bl GHH] Bl

i feu U fadhedl 1 U WaT IR P19 B
|, Had A, B, C IR D
). HadD IRE

3. 990 A BARC

4. H9d B, C INE

Question Number : 10 Question Id : 3421237661 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A physics instructor needs to create International videos demonstrating Newton's law of motion.
Which tool should the instructor use to record, edit and share these videos with students.

L. Flipgrid
2. Camtasia

3. Padlet

4. Google forms

Question Number : 10 Question Id : 3421237661 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 11 Question Id : 3421237662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following research designs would allow systematic elimination of extraneous
varlables other than those you are interested in?

. Longitudinal research
2. Qualitative research
3. Correlational research

4. Experimental research

Question Number : 11 Question Id : 3421237662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 12 Question Id : 3421237663 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Which among the following research designs are likely to suffer from the problem of sample
attrition?

A. Cross-sectional studies
B. Longitudinal studies
C. Panel studies

D. Cohort studies

Choose the correct answer from the options given below:

I. Aand B only
2.A,Band D only
3.A, Cand D only

4.B, Cand D only

Question Number : 12 Question Id : 3421237663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 13 Question Id : 3421237664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



When the characteristic like age, sex or race of the researcher affect the behaviour of a
participants in a study, it refers to

1. Biosocial effect
2. Psychological effect
3. Hawthorn effect

4. Evaluation apprehension

Question Number : 13 Question Id : 3421237664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 14 Question Id : 3421237665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the ordinal variables.

A. Rank of army personnel
B. Religion

C. Caste

D. Annovance level

E. Temperature in Celsius

Choose the correct answer from the options given below:

1. A, B, CandD only

(]

. B and C only
3. A, and D only

4. D and E only

Question Number : 14 Question Id : 3421237665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 15 Question Id : 3421237666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a situation where a researcher wants to test whether the population mean is lower than some
hypothesized value, the researcher would employ-

1. Z- tailed test
2. Left tailed test
3. Right tailed test

4. F- test

Question Number : 15 Question Id : 3421237666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 16 Question Id : 3421237667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The semiotic study of Charles Pierce is in its approach:
1. Experimental

2. Historical

[

. Quasi legal

4. Quasi- scientific

Question Number : 16 Question Id : 3421237667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 17 Question Id : 3421237668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The concept of explanatory journalism attempts to answer more-

1. “Why’ questions

[

. “Where’ questions

(5]

. “Which’ questions

4. *Who’ questions

Question Number : 17 Question Id : 3421237668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 18 Question Id : 3421237669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are statements made by scholars in relation to media-audience equations?

A. New media are natural and social

B. People are polite to well-designed computer

C. The relationship between communication gadgets and people is passive
D. The new media technology has created a kind of techno-spirit

E. The techno-media environment is an ideal environment

Choose the correct answer from the options given below:
1.A,D,Eonly
2.C, D, E onlyu
3.B,.C,E only

4.A,B,C,Donly

Question Number : 18 Question Id : 3421237669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 19 Question Id : 3421237670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct chronological order of the following inventions related to communication:

A. Cable television
B. Telegraph

C. Telephone
D.MP3

E. Phonograph

Choose the correct answer from the options given below:
I.A,C.D.B.E
2.B,C,E,A,D
3.C.AB.D.E

4 EACBD

Question Number : 19 Question Id : 3421237670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.4,C,D,B,E

2.B.C,E.AD
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4. E.ACBD

Question Number : 20 Question Id : 3421237671 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Concept Description
Disinformation [. |International suppression of contradictory ideas

Black propaganda | II. | Transmission of information may be or may not be false

White propaganda | III. |False information about the opposition

ola|w|s

Gray propaganda | IV, |Strategic transmission of lies

Choose the correct answer from the options given below:

1. A-L, B-IL, C-1IL, D-IV
2. A-11, B-II, C-IV, D-1
3. A-IIL B-1V, C-1, D-I

4. A-IV, B-1, C-I1, D-III

Question Number : 20 Question Id : 3421237671 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. AL, B-II, C-I1, D-IV
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2. A-11, B-III, C-1V, D-1
3. A-IIL B-1V, C-1, D-1I

4. A-IV, B-1, C-11, D-III

Question Number : 21 Question Id : 3421237672 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

In an examination a student scores 4 marks for every correct answer and loses | mark for every
wrong answer. A student attempted all the 200 questions and scores 400 marks. The number of
questions he answered correctly was:

1. 60
2.100
3.120
4.150

Question Number : 21 Question Id : 3421237672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. 60

2. 100
3.120
4. 150

Question Number : 22 Question Id : 3421237673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the selling price of Rs 235 results in a discount of 6% on the marked price of an item, at what
price should the item be sold to offer a discount of 15%?

1.Rs 199.5
2.Rs206.5
3.Rs212.5

4.Rs 215

Question Number : 22 Question Id : 3421237673 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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1.199.5 7Y
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Question Number : 23 Question Id : 3421237674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

One term in the number series is wrong. Find out the wrong term?
325, 259, 202, 160, 127, 105, 94

1. 94

[
[ —
2
-1

Question Number : 23 Question Id : 3421237674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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325, 259, 202, 160, 127, 105, 94

1. 94

[

127

3202

Question Number : 24 Question Id : 3421237675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain coding language, if the word *FLOUT’ is coded as *IIRRW”, then the word *CLING’
will be coded as:

1. ENKPI
2.EHLIK
3.FLILK

4. FILKJ

Question Number : 24 Question Id : 3421237675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. ENKPI
2.EHLIK
3.FLILK

4. FILKJ

Question Number : 25 Question Id : 3421237676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

6 Pumps, working 12 hours a day, can empty a tank in 15 days. How many hours a day must 8
pumps operate to empty the tank in, days.

1. 13 hours
2. 14 hours
3. 15 hours

4. 16 hours

Question Number : 25 Question Id : 3421237676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 26 Question Id : 3421237677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"No one has ever been able to prove that psychic powers do not exists. Therefore it is proved that
psychic powers do exist. Identify the fallacy in the above arguments.

1. Appeal to ignorance
2. Hasty generalization
3. Slippery slope
4. Equivocation

Question Number : 26 Question Id : 3421237677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 27 Question Id : 3421237678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Two propositions are contradictory if

A. They cannot both be true

B. Of the pair, exactly one is true and exactly one is false
C. They can both be false

D. They cannot both be false

Choose the correct answer from the options given below:

1. Aand C only

[

. A, B and C only
3. B only
4. A. B and D only

Question Number : 27 Question Id : 3421237678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 28 Question Id : 3421237679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent?

A. Some non-intelligent animals are non-apes

B. Some apes are not intelligent animals

C. Some apes are non - intelligent animals

D. Some non - intelligent animals are not non-apes

Choose the correct answer from the options given below:

1. A, B and C only

[

. A and C only

(5]

.Aand D only
4. B. C and D only

Question Number : 28 Question Id : 3421237679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 29 Question Id : 3421237680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is arranged in the order of decreasing extension?

1. Mathematics, arithmetic. numbers, prime numbers
2. Prime numbers, numbers, arithmetic. Mathematics
3. Arithmetic, mathematics, numbers, prime numbers

4. Numbers, prime numbers, arithmetic, mathematics

Question Number : 29 Question Id : 3421237680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 30 Question Id : 3421237681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the arguments is fallacious because the middle term is pervaded by the absence of the
major term instead of ifs presence:

1. The hill has fire because it is knowable
2. Sound is eternal because it 1s produced
3. Sound s eternal because it 1s audible

4. Sound is quality because it is visible

Question Number : 30 Question Id : 3421237681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 31 Question Id : 3421237682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Web 2.0°, a second generation of the Internet, can best be described as:

. A software package developed by Microsoft and available at a discount to teachers

2. An approach to the Internet in which users can share thoughts, opinions and ideas in a free
and open forum such as blogs, wikis and podcasts

3. An approach to the Internet in which websites and apps can process information in a smart
human-like way through technologies like Machine Learning, Big Data, Decentralized

Ledger Technology, etc

4. Faster Internet for big business

Question Number : 31 Question Id : 3421237682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 32 Question Id : 3421237683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Each webpage is assigned a (n) , an address that identifies the location of the page on the
Internet.

. Internet Protocol (IP)
2. Uniform Resource Locator (URL)
3. Top-Level Domain (TLD)

4. Hyper Text Transfer Protocol (HTTP)

Question Number : 32 Question Id : 3421237683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 33 Question Id : 3421237684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
(File Extension) (File Type)
A | dox I. |Lage file
B. |.ipe II. |Video file
C. |.mp3 IIT. | MS-WOED file
D. |.mov IV. | Audio file

Choose the correct answer from the options given below:

1. A-IIL, B-1, C-II, D-IV

3

. A-IIL B-1, C-1IV, D-1I

sl

. A-IV, B-1, C-III, D-II

4. A-III, B-IV, C-1, D-1I

Question Number : 33 Question Id : 3421237684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Al 1D 1Y Gt 11 T e Sifse

el 1 GEIRl
CIEG (BTEd CITY)
A | dox I @ﬁ{%ﬂﬁh Bigd
B. |.ipe 1. |difsa wEa
C. | .mp3 1. | MS-WORD HIga
D. | mov IV. | 3o {m g
i feu U fadm el O et SR &l 999 BT

1. A-IIL B-1, C-II, D-IV

(i

. A-IILL B-1, C-1IV, D-1I
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. A-TV, B-1. C-III, D-IT

4. A-II1, B-IV, C-I, D-1I



Question Number : 34 Question Id : 3421237685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true with reference to cybersecurity?

A. Incident response in cyber security involves identifying vulnerabilities and patching them

before an attack occurs
B. CERT-In acts as an early warning system for cyber threats and attacks in India

C. ‘Tor’ is an acronym for “The Onion Router’. which is a web browser that enables people to
communicate anonymously online to prevent bad actors from tracking their Internet activity
D. Using a Virtual Personal Network can help secure a network by encrypting the data

transmitted over it

Choose the correct answer from the options given below:
[. Aand D only
2. Aand C only
3.Band D only

4.Band C only

Question Number : 34 Question Id : 3421237685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 35 Question Id : 3421237686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If (L) represents a number L in base-M number system then identify the correct ascending order

of the following numbers A-D when converted to decimal number system

Choose the correct answer from the options given below:
.D,B,C.A
2.B,D,C,A
3.AB.C,D

4.D,B,A,C



Question Number : 35 Question Id : 3421237686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e SYR-M G YUITel! H, (L), ST L 1 &Ifal 8, ol % Ueaff A-D 1 GYmeid G
STl ¥ URafdd e T 97 He RIg 6 bl g BT

A. (203),
B. (100001),
C. (114);

D. (1012);

Choose the correct answer from the options given below:

1.D,B,C,A
2.B,D,C,A
3.4BCD

4.D,B,A,C

Question Number : 36 Question Id : 3421237687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Radioactivity in drinking water can be caused due to pressure of naturally or anthropogenically
occurring radionuclides. Which one of the following is a naturally occurring radionuclides with a
possibility to contaminate drinking water?

. Uranium

2. Plutonium

3. Radon

4. Strontrum

Question Number : 36 Question Id : 3421237687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 37 Question Id : 3421237688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not released during an earthquake?
1. P - Wave
2. Q - Wave
3.5 - Wave

4. Love Wave

Question Number : 37 Question Id : 3421237688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YU & R FAfRId T i Tt av1 gl S gl § 2
1. Gl- 99 (P- Wave)
2. F.- dd (Q- Wave)
3. UY-dd (S- Wave)
4. 9999 (Love Wave)

Question Number : 38 Question Id : 3421237689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is used to measure and monitor air pollution?

1. RADAR

[-2

. SONAR
3. LIDAR

4. SODAR

Question Number : 38 Question Id : 3421237689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T VG 1 AU 3R AR S o fere e & 9 fdwer T fobar o g2
1. V3R (RADAR)
2. ¥R (SONAR)
3. IR (LIDAR)

4. TSR (SODAR)

Question Number : 39 Question Id : 3421237690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In nuclear reactors, ‘moderators’ are substances.

A. That slows down neutron

B. That limits the chain reaction

C. That helps to sustain the chain reaction

D. Without which chain reaction in most nuclear reactors would stop
E. Such as heavy water or D,O

Choose the correct answer from the options given below:

1.A,B.CandD only

I3

A, C,DandE only

[N

.B. C and D only

4. A.B and E only



Question Number : 39 Question Id : 3421237690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 40 Question Id : 3421237691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was the level Carbon dioxide (CO,) during pre-industrial era?
1. 200 ppm
2. 280 ppm
3. 350 ppm

4. 420 ppm

Question Number : 40 Question Id : 3421237691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 200 ppm

(]

. 280 ppm
3. 350 ppm
4. 420 ppm

Question Number : 41 Question Id : 3421237692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The ancient grammarian Panini was a student at which of the following ancient places of
learning?

1. Takshashila
2. Nalanda

3. Sridhanya Katak

4. Odantapuri

Question Number : 41 Question Id : 3421237692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 42 Question Id : 3421237693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



One of the major recommendations of the National Education Policy, 2020, is the establishment
of for restructuring higher education in India.

. Science universities
2. Autonomous colleges
3. Technology clubs

4, Higher Education Institutions clusters

Question Number : 42 Question Id : 3421237693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 43 Question Id : 3421237694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The major initiatives of the union government during the XI plan in the higher education sector
were:

A. Establishment of 14 world class universities
B. Diversion of funds to private universities better performance

C. Strengthening of science based higher education and research in universities
D. Restructuring of different councils

E. Financially supporting uncovered state universities and colleges
Choose the correct answer from the options given below:

[.A,B, Conly
2.A,C,Eonly
3.B.C.Donly

4.D, E only

Question Number : 43 Question Id : 3421237694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 44 Question Id : 3421237695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are public sector funding agencies for research in India?

A. TATA Trust
B. ICAR
C.ICHR
D. ICMR
E. Population Foundation of India (PFT)
Choose the correct answer from the options given below:
1. A, B, Conly
2.B,C,Donly
3.D.E only

4. A, C,E only

Question Number : 44 Question Id : 3421237695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 45 Question Id : 3421237696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII

Forerunner college University

Muir Central College| I. |Lucknow University

Oriental College II. |Allahabad University

University College 1. | Aligarh University

olo|w|»

Canning College IV. |Panjab University

Choose the correct answer from the options given below:

1. A-I, B-II, C-IIL, D-1IV

3

. A-II, B-1II, C-1IV, D-1

sl

- A-IILL B-1V, C-1, D-II

4. A-IV, B-1. C-II, D-ITI

Question Number : 45 Question Id : 3421237696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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-A-IIL B-1V, C-1, D-1I

4. A-IV, B-1, C-1II, D-III

Sub-Section Number : 3
Sub-Section Id : 342123305
Question Shuffling Allowed : No



Question Id : 3421237697 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)

Question Label : Comprehension

The Andaman and Nicobar Islands sitwated between 6° and 14° latitudes and 92° and 94
longitudes in the Bay of Bengal have been inhabited for thousands of years going back to the
Middle Palaeolithic age. Through the vast majority of this time the inhabitants of these islands
maintained their separated existence diversifying into distinct linguistic, cultural and territorial
groups. In the mid-nineteenth century CE, for the first time they came into sustained contact with
the outside world. Today, they are mainly consisted of the Great Andamanese tribes like the
Jarawa, the Onge and the Sentinelese and the Nicobarese consisting of the great Nicobarese and
the Shompens. Host to the tropical climate nourished by both the south-west and the north-east
monsoons, the Union Territory is at present divided into three revenue districts with Port Blair as
its capital.

Andaman and Nicobar Islands dwellers have migrated and settled down from various parts of
India and Burma as well. The culture of Andaman and Nicobar Islands is distinct and unique and
comprises mainly two types of inhabitants-Indians and Natives. The former are mainly from the
Indian Mainland especially from areas like Punjab, West Bengal, Tamil Nadu, Myanmar and Sri
Lanka. The Natives are what makes Andaman and Nicobar Islands different from other parts of
the country. They are the main reason why these islands have a wild aura about them.

Sub questions

Question Number : 46 Question Id : 3421237698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following communities has connection with the Andaman and Nicobar Islands?

1. Khasi
2. Santhal
3. Bodo

4. Jarawa

Question Number : 47 Question Id : 3421237699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following does not help the inhabitants to continue their distinctive identity in
Andaman and Nicobar Islands?

. Linguistic aspect
2. Cultural aspect

3. Territorial aspect
4. Nutritional aspect

Question Number : 48 Question Id : 3421237700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following groups of people of Andaman and Nicobar islands have migrated from
Indian mainland, Myanmar and Sri Lanka?

I Indians

2. Natives
3. Nagas

4, Marwaris

Question Number : 49 Question Id : 3421237701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Andaman and Nicobar Islands

1. 1s a cluster of small beatiful countries
2. 1s a cluster of several beautiful islands

3. is a cluster of few villages

4. 15 cluster of deserts

Question Number : 50 Question Id : 3421237702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Port Blair is a part of:

|. Kerala
2. Andhra Prasedh

3. Sri Lanka

4. Andaman and Nicobar Islands

Question Id : 3421237697 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 3421237698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 47 Question Id : 3421237699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 48 Question Id : 3421237700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 49 Question Id : 3421237701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 50 Question Id : 3421237702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Section Id : 342123104
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123306
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 3421237703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 51 Question Id : 3421237703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 52 Question Id : 3421237704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 52 Question Id : 3421237704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 53 Question Id : 3421237705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 53 Question Id : 3421237705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 54 Question Id : 3421237706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 54 Question Id : 3421237706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 55 Question Id : 3421237707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 55 Question Id : 3421237707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 56 Question Id : 3421237708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 56 Question Id : 3421237708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 57 Question Id : 3421237709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 57 Question Id : 3421237709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 58 Question Id : 3421237710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 58 Question Id : 3421237710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 59 Question Id : 3421237711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Structure of Boro language ABZLNY 6P G --

1. TN 5% G861}
2. FFN bH PN
3. YR 001
4. OUIN G

Question Number : 59 Question Id : 3421237711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Structure of Boro language N3 YN 6P G --
1. ATIM 5% wEI6 )

TSN 5 PO

3

Ld

NS 00T
4. w4« « @I él

Question Number : 60 Question Id : 3421237712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TS IR 41 BRI 161 T2 B (7R AR5 W wj2ee] e werq
(PTG AT 34 PR 2

1. Go GIHS I

2. Go NG

3.0 i FUR (BOG

4. G0 (o7 A= (TSI

Question Number : 60 Question Id : 3421237712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS AT P4 BIZNBeTE 261 29 B (719 HERL ARG Y w126e] Jfe] werq
(PG G JIRE FIY 2

1. G0 SINPIS 394
2.6051?1[9/1?

3. o YHif© FN14 (BOG
4. 50 S0y {3 (T

Question Number : 61 Question Id : 3421237713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BTN #5feT® (G OTMDIR %199 W EME 1R W26 (208 8 WF 94
ERLACIGERRIRER

1. OIR STt

2, ARG SImI

3. G ORI

4. foRO I ORI

Question Number : 61 Question Id : 3421237713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BTN #5feT® (G OTMDIR ¥ WY ENE 12 W26l (208 8 WF 599
ERLACIGERRIRER

1. OIR STt

2, ARG SImI

3. G ORI

4. foRO I ORI

Question Number : 62 Question Id : 3421237714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o0 W] &N MBS ST ST il (R PR OIS O
AOR el T8 F4 IS0 (22 --

1. (M1 el
2, Go MG

3. I B0
4. e iy

Question Number : 62 Question Id : 3421237714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o0 NI &N MRS SN SIS il (R PR S-S ©IA
9 31 T8 41 IS0 (27 -

1. (M1 O fed
2. Go N

3. TN PO
4. Foferary (g

Question Number : 63 Question Id : 3421237715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T AFS AT el AH (=T --
1. At ferfy
P ILG G
3. OV feqfy
4, PIRCY feafsy

Question Number : 63 Question Id : 3421237715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TN AFS IS el A Y (=T --
1. T fEfsy
2. Pibe ferf+
3. g feafsy
4. PR feIf

Question Number : 64 Question Id : 3421237716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS S45eTS PTG 5o 319 OIAH! @11 (PINIG1 O 71§ T§5(@ 2

1. GOl
2. FIA GOl
3. 96 ol
4, BPvE|

Question Number : 64 Question Id : 3421237716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



NHALH G2 PTG 2667 J14 OILG] O (FING! o1 G919 B89 2
1, GOl
2. FIA GOl
3. 96 Ol
4. BTB9A]

Question Number : 65 Question Id : 3421237717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OSTNI ATRI97 (GG SZ YN IGPOH —

1. (b deedl

o]

P GICREG]
3. 2f¥*5H ©HERT
4. g =]

Question Number : 65 Question Id : 3421237717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SN 1R [GIA G T3 LNT I6F O —

1. (UG o]

o]

WAl e
3. 3f¥*5™ ©EERI
4. o1 =]

Question Number : 66 Question Id : 3421237718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SR Y51 YR N[BT NO® 3% FN T2 (PINCGI 2
B EIE|
2. NI
3. (FT9T
4. RISl

Question Number : 66 Question Id : 3421237718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SR Y5 YRANNITRAS NG® Y13 FE TR (FINCGI 2
L. 51T

R CIE|
3. (B9
4. ZMOIIEAI

Question Number : 67 Question Id : 3421237719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ol (PG OF O FTHIE TBHS 2
1. W2 8N, N2 BA6!

GBI FOIFIF BILIS HIG

3. (MUCS (¥®, I7% 93

[

 ©[9F ORI o' I(F ORI TA

I

Question Number : 67 Question Id : 3421237719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



©eld (PG OF O FHIE WBHS 2
1. W12 FEINI6, W2 S3Ar=I6!

GBI FOINIF IS HIG

3. (YW %1%, IT° J9

[

 ©[9] B[R &'J[F ORI AW

e

Question Number : 68 Question Id : 3421237720 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“WMRF FHAT*T
M= 179@ , Wrodl (B9S

OF (S0 Oeq (PG o1 T\

 PAPIF99 e

—

A CIRICEE RIS

[

3. NI239 e
4. GIINOF Ao

Question Number : 68 Question Id : 3421237720 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SRS FUAT =T
A= Y79 . W4l (B

O&F &0 BeI] (BLG] N9 BB@--

—a

PPl A
2. Gl Mo+ Ao
3. W29 o

4. GV S

Question Number : 69 Question Id : 3421237721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

19 (PN PIATS [RITAEG TR YReTNW PRI 21T 72 F1 (AR 2
L. Y@l B9
2. N7 bI§©
3. 3] &Y
4. @ FHIBA]

Question Number : 69 Question Id : 3421237721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OeTq (FNYN FIATE [FITAE R YReTNW FIRTE 1T 29 F91 (A7 2
I ?ﬁﬁﬁwi BI9©
N7 B9

(R

3
3

4. M@ Y7



Question Number : 70 Question Id : 3421237722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

PITHPE AZF (4P (PIN ?

| SN
R IFON]
3. OB

4. PP

o]

Question Number : 70 Question Id : 3421237722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

PITHPA AZF (TP (Pl ?

| ST
R VEUTION]
3. ©8Md

4. PBP

o]

Question Number : 71 Question Id : 3421237723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

O (FINCGI BT O #[29F I3 TSNS 2

1. CPIY

[

BT
3. qf@

4. %Y

Question Number : 71 Question Id : 3421237723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



O (FAG! BT O #290< 979 TBHNS 2

1. (&PIY

[

BCH

Question Number : 72 Question Id : 3421237724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

PR IR LR
BIANRIMCET SAGHIE]
$% [0 (49 (F TR R WA
%, o S@we (79

OIE [T WM IR (P9
TN&l BT TS Gol® A9 |~ — 2 (IEFIRo (6 599 AT (2R 2

L Tl
RGIE!

3.9

4. A

Question Number : 72 Question Id : 3421237724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



P IR LR

PRI SIS

$% [ (29 (7 AR AR W

HfF (Z© SFFE (M9

WIS [T S 112 (F9

AT R0 TS Gl TR | — 42 (NIErAS (6§99 20091 (20 2

1. BeTol
2. (TBI4

3.9

4. 4

Question Number : 73 Question Id : 3421237725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GG G SIG G
W}Emﬂ?{ - ﬁ
ST ANFI(B 70 e FIF ([ (20T --

1G]

[

B s | |
3. 99 P

4. IF

Question Number : 73 Question Id : 3421237725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



OGN G~ SIGH G
W@ﬁ@ n_ “
O&F ANTIP® I9T0 WP 7Y (=G --

1. GH[

(]

s | M|
3. 9P

4. AP

Question Number : 74 Question Id : 3421237726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR (R 2T ST 2 A ST IR <4716 - — 2 TSl 2
L o Sl
2. FED
3. S A
4. 999

Question Number : 74 Question Id : 3421237726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR RN AR G T T A WA FRE T2 208 P — 93 G611 2

|, [ PRI
2. $AL
3, Ol Al

4. 999

Question Number : 75 Question Id : 3421237727 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

W@l MG IFNCGI (BIHCO] ANROTHE TOIMR 191 G 2

1. WIYAFOAM

2. 44
PR HEEILE
1. 5B WHAFORM

Question Number : 75 Question Id : 3421237727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

| i i

W@l MG FNCGI (BIHCO] HROTHE TOIMS 91 G 2

1. WY NFOEM

2. 449

3. A<M

4. 5@ WYAPORM

Question Number : 76 Question Id : 3421237728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

NP TBAPI0:" Jfel (BRI T HAH[P O 2

1. 991

[

ORI

3. PpBP

4. A

Question Number : 76 Question Id : 3421237728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



NGH® STEAP0:" Jfel (BRI O HAH[BOA 2--
I 4NN
2. 94O
3. PUP
4. NN

Question Number : 77 Question Id : 3421237729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

%, TR G OIS (PRIG GO TR T - BT (PG NI

HERREIRIREINEIEGE,
R )

). GIRE (S
3. (FSH (WSS

4. GRITI GbA

Question Number : 77 Question Id : 3421237729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

« @], TNI2Q W YOS (PP RN U2 T - 6T (PG TAEAHIP
R R EINEIEGE,

R )

). WIEER (@
3. (F9R (WAGG

4. BRI TH

Question Number : 78 Question Id : 3421237730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(FT G 1 TN TR0 (2 012 TGP DATF] 10 FlaRe 2
1. PRTRR
2. FUMRR
3. TR s
4. 5P P1eR
Question Number : 78 Question Id : 3421237730 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

] il

(T IO [ TN TR0 [(E 7912 A0 FIAIF] Ao FIE19e 2
1. PahieR

2. PR MR

3. IR P
4. HEFRG MR

Question Number : 79 Question Id : 3421237731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ol (P4 5 BI9 [TYIE @91@ Gifos 2
1. GBI

BV GETRIK

X G

4. AAGRIPA

[

]

Question Number : 79 Question Id : 3421237731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



B4 (FMIFY BT BI4 [FYMR A9 Giow 2
L. FNIRFB
ISR N1

XS AT
4, ATOITE

[

(el

Question Number : 80 Question Id : 3421237732 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OeTd (PIIRY G Jl WIGIRS 910 YT 2
1. BINRS Gl
2. 1% G

ReIVE e LT

ERCE R )

[S]

I

Question Number : 80 Question Id : 3421237732 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OeAq (PFINIRY AGT i WHKS 91O H LS 2
1. ZNCAS G

1%

. BO® “fGl

R

[

]

I

Question Number : 81 Question Id : 3421237733 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(FAIPIAT WA PR [[Y *]AIF (FH W97 AL U2 2
1. BITS

o]

2[99
4. ©f¥©

Question Number : 81 Question Id : 3421237733 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(FIPIA TP (Y #ITT (P W25 AR FRA 2
1. BT
. [5%®
3. }[09
4. ©l¥®

Question Number : 82 Question Id : 3421237734 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST 00 3124 FI=T (0NN IS T el (FHIRE T FO TG 2
1. feqroty o
2. BIRGH HsFHo
3. O e Flo
4. S M Ffo

Question Number : 82 Question Id : 3421237734 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ST 00 24 FRT (ORI IS 2T el (FRY T Fod T 2
1. [eqrsts s o
2. BIRGH Ao
3, O s Fo
4, P s F©

Question Number : 83 Question Id : 3421237735 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IR YIS (RS O B PE M (=N A6 (207 -
1. IS (MR wed

2. e e
3. O R
4. R

Question Number : 83 Question Id : 3421237735 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SR Y519 (ARG ©rpT B FE [NVl (1 Wil (R0 ---
1. IS (MR e

2 Ao 7'd
3. G R
4. R T

Question Number : 84 Question Id : 3421237736 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



WA 97O 65T I3 2D HOE BT (PN TGS (T T 2
1. @] &7y 9]
2. (R 7Y 395

3. PgIl @l
1. Gy gl

Question Number : 84 Question Id : 3421237736 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WY Y9 FHGHH I3 26 HO/E P TeTq (FY IS ([T IR 2
1. ST@35] 7y 9]
2. (F2 T 396

3. PYIdl @l
4. gy =g

Question Number : 85 Question Id : 3421237737 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YWD [P YIS - I H2 AP WM YeTos (G2 GO 391 =2
1. BT A5 HOUE! 51771 A1 AFTE A L] TAIMPS (NI WO
2. 68T 159 2AfSTET *1% I IETH A Vel O (A5 WO

3. WM AP0 €O

4. SRS T ST SIS (7 M W3 F S-S HHRO

Question Number : 85 Question Id : 3421237737 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YA W YeTTF - 2 H2 AP[RE RN YeTos [P HLFO B[ 2 2
1. B8N A1 AGLG] *13 A AFT A A SB[ HHETO

2. 58 2159 AfSTET *1% I IFIH A Vel O [T A

3. WM PO €O

4, SRS I ST SIS (7 M W3 E ST WO

Question Number : 86 Question Id : 3421237738 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(1G] *TOPT A RS (RGeS HROTE JHwINS W] ALY F0 TS

(2ot
BCISEY
2. #R (PPTIRS
3. WHIATET SIF 3 IRTR (EPTNRO
4. 204170

Question Number : 86 Question Id : 3421237738 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(G *TOPH 7 TS (R QYT NROTS JHOINS W] ALY 0 S

[EEGH

1. w99

2. $I54 (TAPTRS

3. THIRT) S %4 AR (FPTNRS
4. RGO

Question Number : 87 Question Id : 3421237739 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T O Bl (LA RARATET® [3% *fohR gor 9 es [R3[ fvese
SNIIRE PR QAN HIROTS WHIWE WA LS F1 (2f5e 2

1. STNABIE PAe [RRITeTTo

2. FE Yelfbofb wig Ao

3. U998 IMR RARMIETTo

1. GINII9 ZIEGe1 REAeTTe

Question Number : 87 Question Id : 3421237739 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T (Y B (ML AR [5% $0RR gor s 5[ fvose
SN PR QAN HIROTT HHIWE WA RS F4 (=2fe 2

|, STNIBIR FAeT YR
). FPR A6 ©Y H1{e

3. O] MY [Ree

4, G 230G R

Question Number : 88 Question Id : 3421237740 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OENIET® SR] O TR S 91T (R “adaptation” WIF “imitation’ WAl
DI IR Z0 ST SO 51 (20 -

1. B8N W Ao

2. OIgeTq I B[y Ho°]

3. W9 P T4

4. TG AT A PefRe

Question Number : 88 Question Id : 3421237740 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



QEAIET® SR) O TR I3 1921 (R “adaptation’ WIF “imitation’ Al
71514 PR 42 ST A 75 (=[] -

1. B8N W Ao

2. geTq W[ eI pq

3. W9 P T4

4. TG AT A PefRe

Question Number : 89 Question Id : 3421237741 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FEIMOR 40! BTS00 TG I 618 XSG T FIRA HFIRP! (Z(T-

L. NJPI@ &4

. [df{i% AR I
3. wAP[E JP4
4 DR I

Question Number : 89 Question Id : 3421237741 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FRITOR 40! BTS00 ATFET I 60 ANE T9° TR HFIR (2T

L V4PIB q4l

). AR PR A
3, WAPNE qP4

4. bHYL o4

Question Number : 90 Question Id : 3421237742 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S[PLAME Y10 SR TRGTCe ST SR RG] T JSAIG oofol
oI et

1. S5 S 51l
2, NI3eTg O (<10 o7
3, el W e

4, VA G TG

Question Number : 90 Question Id : 3421237742 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wm@%ﬂ@wﬁwﬁﬁwﬁw%wwwwmmﬁﬂw@ﬂm
P -

1. 5 S 51l

), VT O (1G] I3

3, WieTwd W JfeToy

4, VA G AT

Question Number : 91 Question Id : 3421237743 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



©e1q B (PRYN ABHE PN ST J0H1]T |

A. ST & 17 TP

B. WY/ 169 (Glf©
C. 924 THIY

D. SN FFVT T

L, B, P
2B G A D
3.A,C.B;D

4.C,B,A,D

Question Number : 91 Question Id : 3421237743 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

©elq IR (PRYN AP T3 S« A0G4] |

A. ST & §19 TR

B. SN 1R (Glf@
C. 9% ATHIY

D. SN FRFIT L

LA B C.D
2.B,C,A,D
3.4, CB; D

4.C,B,A. D

Question Number : 92 Question Id : 3421237744 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



el [ AT AR YA AFHE FN S A0Sl |

A. OTRIT ATGI [
B. STNI feif*

C. SEI-*TA~IFeT]

D. [T GIN<el

B AC. T

p—a

g

B O A D

5]

A DL B

4.D,C,B,A

Question Number : 92 Question Id : 3421237744 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welq [AMAITAE AIACH YA ABHE FN S AG4I |

A. ST GI [y
B. ST [l

C. AGL-API~IGeT]

D. [F%1E T @I NPT

1. B, A, C.D
2. B.C.A D
30D B

4.D.C.B.A

Question Number : 93 Question Id : 3421237745 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A< B[wH (PRY APHE FY SIS A0S |
A. FIEI~NE ST *R R

B. FIZEIG w4+
3 @:‘E’@?ﬁ eI
D. NTBE MR

1. B, C, A, D
2. B BA
3. B.C.A:D

4. A,D,B,C

Question Number : 93 Question Id : 3421237745 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

4 SfwHW (PRYA APHE FY SIS ATG |

A. WIYINE ST *R0RIY
B. YL W4+

C. G Sfed~

D. ST NHCHIT

1. B, C,A.D
2. BC B.A
3. B.C.AD

4. A,D,B,C

Question Number : 94 Question Id : 3421237746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Ol SR Y19 BIHOTHYRS (NN STIY SIS ST |

A PR
B. f*rame

C. 9399

D. NTRIGF FEArIH)

1. B, C, A D

g

A B A

5]

.B,A, D, C

4.D,C,A,B

Question Number : 94 Question Id : 3421237746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OeTd SR Y514 FIHOTHYRS [WN[1F STV W19 0G| |

A. P4 H49
B. 1w

C. 9399

D. NTWIGT eIl

1.B. C.A.D

[

A B &

sl

. By A D, C

4.D.C.A.B

Question Number : 95 Question Id : 3421237747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TN OIS (6 o [T AL AFHIE TNY S ST |

A. T PG TG FE FeFlo

B. BTN (716 GSd

C. ST STeFlole] GG 964
D. OPTYF (P HOF FwnT

1. B, D, C.A

(]

.D,C,B.A
3.B,A,C,D

4.A,B,D,C

Question Number : 95 Question Id : 3421237747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TN O[O 6O SO [TITE AL AR TN S TG |

A. J0T PRI TG FIF T Flo

B. BTN (e7<k GEYT

C. WWEWW@@@
D. WTYF (FRB 1 0F HT@PT
1.B.D.C A

2R BoA

3.BACD

4.A.B.D.C

Question Number : 96 Question Id : 3421237748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SN AfABGTRA I6A1F TN SPI1E SOGE] |
CIRINATN

 PNFETV FI
 TSs IGsEed]
 ISITRITNT

1.A,B,C,D

O N wp

2. 0C, BoA

5]

G A B D

4.B,D,A,C

Question Number : 96 Question Id : 3421237748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIS AR5 TIRS IHAIE STUT SIS 0G|
A. (FISIATY
B. PNTZIYV PIAT
C. 7<% SIGREAET]
D. XSGR

1. AB.C.D
2. BC B.A
3.C.AB,D

4.B,D.A.C

Question Number : 97 Question Id : 3421237749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Oel4 [SROIA OIS A3 (P2LN AFFR TN WA« TG |

A. An Introduction to Dimasa Phonology

B. Karbi : The People and Their Language
C. Studies of Sino-Tibetan Languages

D. Structure of Garo

1.AB.CD
2.D;C, B, A
3. EB.AD

4.D,C,A,B

Question Number : 97 Question Id : 3421237749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el [OROI N ORIRTTS A3 (F2YN HAFHE TN W19 G| |

A. An Introduction to Dimasa Phonology
B. Karbi: The People and Their Language
C. Studies of Sino-Tibetan Languages
D. Structure of Garo

1L ABED

2.D,C,B,A

3.CB.AD

4.D,.C.AB

Question Number : 98 Question Id : 3421237750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o4 JAEIHRYA TR IGIIFTS GG BIeTd [T L] ST 1s Tl |

A [ @G

B. ey &R 3967

C. RSN &7y 5]
D. <9 57N 391

1.AB.C.D
2.D,B,A,C
3.C,A,B,D

4.A,C.D,B

Question Number : 98 Question Id : 3421237750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o1 JAEIH2LA SR IGIFTS OGS PIeTd [RG9°T L] STiia SO |

A [T EE

B. Wy & 798

C. SHFIT &7y G5 &
D. <9 7Y 7E

1.A.B.C.D
2.D,B,A,C
3.C,A,B,D

4.A,C.D,B

Question Number : 99 Question Id : 3421237751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



IRETAS NTOPTNZ TN SIS SO

A. WI2]9 e

B. (53 A4T29 5@
C

D

EE L eI

1.AB, D, C

g

N

5]

D C B

4.B,A,C,D

Question Number : 99 Question Id : 3421237751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

JIEIYAP NIeTOPTYR TN SIS SOG] |

A, WES9 Ao

B. 6@ A[{I=T @
C. VRN (AT ©
D

R E R

A, B, D, C

p—

[

B C DLk

sl

DG B A

4.B,A.C.D

Question Number : 100 Question Id : 3421237752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



NGFS SHTYR TN SIS HOG] |

Aoy
Y
2]
CEET

1.A,B, C, D

onwp

g

N

5]

D, C, B, A

4.B,A,C,D

Question Number : 100 Question Id : 3421237752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

NGRS SR PN WP TG |

A. Aoy
B. Y4
C. MY
P RCEET]

1.AB,C,D
2. B.C. DA
3 D.C.B:A

4.B,A.C.D

Question Number : 101 Question Id : 3421237753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(9 R RN (gl Aoq 714
(OGN IS RN B2 MRITB 01 2 AT SIS FIRE W M0
RRUCCRE|

A, BT
B. G
C. 4R 4
D. GANRIGS

.LA,B,C,D
2.B,C,D,A
3.D,C,B,A
4 B,A,C,D

Question Number : 101 Question Id : 3421237753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(W 42 R4 (G HToq M8
(GG IS AN B2 MRITHZ01 2 AT SIS B O NP6
RIERRET

A. BT
B. BN
C. e
D. GV

.A,B,C,D
2.B,C,D,A
3.D,C.B;A
4.B,A,C,D

Question Number : 102 Question Id : 3421237754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



STNCATENIR GI_RICP 206! N SAH[S ATGIE |

A. IU9I49M
B. 44N
C. WIY[NFOEM

D. ABIAM W[ APfodM

1A B C.D

I3

B, A

(8]

.D.C, B, A

4.B,A,D,C

Question Number : 102 Question Id : 3421237754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SAIATGNT QIR E06] TN S UG |

A. IU9I49M
B. 44N
C. WIY[NFOEM

D. ABIAM H[F AF[OJM

1A B C.D

2 BoE. B

(8]

.D.C, B, A

4.B,A,D,C

Question Number : 103 Question Id : 3421237755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BN Y WA UG |

A. IINGIT PR OIS TYIFIT 1 916«
B. WHATHIAT (T B

C. WIHT TS ST B

D. o4 HI4 7N FF< o8

1. A, B,C,D

2. B.C I3 A
36 Bk

4.D, A, B,C

Question Number : 103 Question Id : 3421237755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IHE T SIS O] |

I TERPIEEE Oier TYIBIS A OIS«

 WHATAIS TITT B3
W14 T[S I B3
 ATOTHI FIII TN FFHI w18

1. A, B.C.D

O 0w p

[

WO

sl

Sy Bk

4.D, A,B.C

Question Number : 104 Question Id : 3421237756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



N OO P SHAM B IBIF BIFTYR G Si{ SOG

A, TTHIAT ALY Y61 AFOPRLY
B. W11 NS4

C. TTFEIAIHY A T AR
D. G&IHHY 5

1.A, B,C,.D
2B, C.DA
3B DAL

4.D, A,B,C

Question Number : 104 Question Id : 3421237756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

N OTOOI P WM B AGIE BINTYR FN Qiiq G|

A, THIAIIT ALY Y611 AFORI

B. W& fNIF
C. TTFIATI A O AR
D. GEHHHF 5T

1.A, B,.C.D
2. B ¢ 8%
3B DAL

4.D, A,B.C

Question Number : 105 Question Id : 3421237757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SIOE QeATYeTb 20T SIS GG ST (7T THATY N Sl
G

A, TR RYRTTO GaE MR TN T8y e
B. MI2@) QFIGMT YA “Indian Literature” AP

C. OO M) A7 71 PSP [ O SGH
D. M&® 2] SAIeh Frow

LA, B,C,D
2.B, C,D,A
3.C,D,AB

4D, A B.C

Question Number : 105 Question Id : 3421237757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIOE GeAeTb 20T SIS GF G G (AT THAPTYR N Sl
G

A, MR AR GAANAE RO AFE S8w @
B. MIRW) WHG YA ‘Indian Literature’ AP

C. RO HIRW) ATV FRT BRSFR [T OI¥°E SIGA
D. & A2e] SHIoN F#W

LA, B,C,D
2.B, C,D,A
3.C, D,A,B

4D, A,B,C

Question Number : 106 Question Id : 3421237758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SIR®) ST ([RITP % Lel—

R YY) (A
. PIFOIF Y

. ST HA
03T WIF TN

AP B

O n wp

—a

[

. BY[¥ C
3. DY A
4. BY[€ D

Question Number : 106 Question Id : 3421237758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIFR®) STNAGAT [T AFF Yed—

. FYNITRTR
. PIOIF S
TR
YT SIF NG

. AYPB

00w e

—

[

B¢ C
3. DYE A
4.BY[$ D

Question Number : 107 Question Id : 3421237759 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



B SANS Yed

G|
IS
E._EI PY

B

oONnwp

AP B

—a

[

B.C H[¥ D
3. D9 A
4. B, AP C

Question Number : 107 Question Id : 3421237759 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

PO GAMINS Y

7T
GG
E.ﬂ P

1

oNnwp

. AYPB

—

[

B.C Y€ D
3. DY A
4. B, AN C

Question Number : 108 Question Id : 3421237760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(QUETRINIY (MFTTE I6© FZ Le-

A. VHANOG : 6T GIF A*CIOT
B. IYVIPRIAT ACwIN

C. RO GIeToAT

D. 27 7y

1. AY€B

[

B.CH[¥ D
3. D9 A

4. A€ C

Question Number : 108 Question Id : 3421237760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

CAtAPINIY (TFTAIR (6O 43S Yel-

A. VANOG - HT6T G S*6I1oT
B. YIRS ooV

C. 2T RG]

D. 207 7

1. A€ B

[

.B,.CY[<¥ D

3. DS A

4. ANY[[€ C

Question Number : 109 Question Id : 3421237761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



. IR e
. TNl o

Lo
. o W29 Ao

AP B

O n wp

—a

[

. B.C¥[$D
3AABY[€ D

4. DY A

Question Number : 109 Question Id : 3421237761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST (T4 SROIS @9 e

R ETIEIRIS
. TN e

I
. WIoe] w127 S

. AYPB

00w e

—

[

. B.CY[$D
3.AABY$E D
4 D[ A

Question Number : 110 Question Id : 3421237762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ST DI TASNE Lol —

IR

RO G

(NPING
CACNIRIE BRI SN

AP B

onwp

—a

[

.CY[¥D
3.BYI$D

B.CH[¥D

4

Question Number : 110 Question Id : 3421237762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIST CDIT SASNE Yo —

. NI
FroIG
. (NG

. AYPB

gNwp

—

[

.CYH[$D
3.BYH[€ D

B.CH[¥D

B

Question Number : 111 Question Id : 3421237763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



HICR I07g FIA9 60 & 4N T A3 L-

| FHITO [T
X I
| NIRRT

O n wp

AN B

—a

[

.C[€D
3.BY[€ D
4. A€ D

Question Number : 111 Question Id : 3421237763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WY IOTY FIT© 6O e 4 TTFHT A3 Ie-

SN 5729

. JHCITO A[IY
G T

. NIRRT AT

CNnw R

. AY[¥B

—

[

.CY[$ D
3.BY[$ D
4. A< D

Question Number : 112 Question Id : 3421237764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SN O TR (R (G OIEF GAHS Lo -

eI, (BUHGL. (PIGET, P, NI
(BT, B, (3(IZ1, (GLePl, HFa
(64, 2P, GIGP, (69, (@4l

(OGE, WRIFRPI, FOIAG, |y, fezsr
AYP C

O n wp

—a

[

.BY[€ D
3. DYE A

4. ANY[¥ B

Question Number : 112 Question Id : 3421237764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST O™ 1929 (R WGP OrEE SATHWE e -

.91, (BUHGI, (PICGET, Ph, NI

. (6L, BN, (12, (BLAFI, B

. (5P, e, BIGP, (6, (QMl

. (OG7E, NRIF R, OIAD, Ko, @251

00w e

AN C

—

[

.BY¥ D

3. DS A

4. ANY[¥ B

Question Number : 113 Question Id : 3421237765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BUAT 1Y (T SR O B&e T od 461 -

A, 3G S TR G 912 V9% S0 E GHely] |

B. BTN ©IIG! NeTws % (LA 461 %1 | J2 GBI (63 (M52
TG I S O Wi |

C. ST NIE! YeTws WoRI O | ot {9T0R S126e74 1< W12 G849 9499
NG TOIIE 26 PO AT B P Te5y AP &l
UENONESRICRE TR R IERE

D. OIN4 I 25 S 96 (71 A0 o1l J5E e 3560 (207
W?WWWWWWWW | GRTOIEE
FNGH AP |

LAY C
2.CH$LD
3.DYE A

4 AY® B

Question Number : 113 Question Id : 3421237765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BUAT 1Y (T SR O B&e T od 461 -

A, G S S RG] ©IF12 WM S« Goe |

B. BTN ©IIG! NeTws % (LA 461 %1 | J2 GBI (63 (M52
TGS FIS SR o e |

C. ST ONIGT Ye0s IR O] | W9l (9T0E W2sedd 21«1 W11 Ged 44919
NG TOIIE 26 PO AT B P Te5y AP &l
UENONESRICRE TR R IERE

D. OIN4 I 25 S 96 (71 A0 o1l J5E e 3560 (207
Wﬁﬁgﬂ@ﬁmwﬁ%ﬁmﬁ@www&aﬁw | GRTOIEE
NG 2P0 |

LAY C
2.CH$LD
3.DYE A

4 AY® B

Question Number : 114 Question Id : 3421237766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AGT ANCATE AR A3 Yel—

A. STROIT AGwiv

B. MI[2@] 7

C. SN2 RG]

D. S12@7 [T {1

. BY[¥$D

[

B¢ C

3.ANE D

4.CYI¥ D

Question Number : 114 Question Id : 3421237766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ATES TGN JF LeT—

A. RIS FAGwiN

B. MI207 7oy

C. 2O QG

D. SIROT [J7IT [T

1. BY[$D

[

. BY[¥ C
3JAYS D

4. CH[¥ D

Question Number : 115 Question Id : 3421237767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fOROITT YeIq OIS Ol (29 g -
A. TSI 20701 |

B. [NAES[IES F¥/9 AT |
C. STCTY AT RN SR |
D. NIPN3T SRNF 27090 |

1.AY[€ B

[

.BY[<¥ D

3.A Y[ C

4. B[P C

Question Number : 115 Question Id : 3421237767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ORI Y11 OIS I (1819 e -
A. AIFII 2T |

B. [AfZwRIES F9/F AT |
C. STCEIY =12 ST SHR |
D. WI<RY &RINF 2T |

1.AY<$ B

[

.BY[¥ D
3.AYP C
4. BY[$ C

Question Number : 116 Question Id : 3421237768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Oelq NSAEET 87 YBAI Yo [~ Bl

A. N ST SATNIGP NEFYS NOIPIE SO I |
B. W& *X[q W2 94 IRRGLT NG |

C. (JIeN4 N5 NGIBE (2T AN (N2 BILAT |

D. YN GBI2 GG FOINGT TBFHH] I B |

1. A€ B

2.B.CY[$D

A BY[®C

4. DY A

Question Number : 116 Question Id : 3421237768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Oelq BT H7 NS e [~NofF 4l

A. AN ST ATNINGE NGFLNS VOIS I |
B. W& *X[q WI2{ 449 SREGLT NG |

C. (JFNF N5 NGIFR (=207 ARANL N2 BIFA] |

D. YA GBIE GG FHOINGT AHIRB] 67 B |

1. A< B

2.B.C\YH[s$D
A BYLC

4. DY A

Question Number : 117 Question Id : 3421237769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ol NBIAES 73 NBIS YeT [ BT |

A. BRSO W 2o Arel R (AT |

B. NISIAAl AIRS] WYHF AN2WTF [woF N2 |

C. S NGRS HISR Ik (Y Fel |

D. NF NOH (PRRI TNYA BHATAN SHIA N[O ST |

1. A€ B

[

. B.CY[€ D

3. AABY$C

4. ANY[€ D

Question Number : 117 Question Id : 3421237769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Ol UBINARS &3 NBIS Yo [T 547 |

A, WHAFO] W 2o Nel HiGEF (AT |

B. NISIAMI AIR®) WAF AMR014 (woed N2 |

C. SAIP] NGRS MI9R AF (Y el |

D. N® NG (PRRI TNLAT GATAN BB AHW ST |

1. AY€B

[

.B.CY[¥ D
3.ABY®C

4. A€ D

Question Number : 118 Question Id : 3421237770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS Wl GBI NTNIRA A SAIDETPeT e [T 47 |

A, TR (AGESAL, (4F IOLHEL Namd 128

B. IOIBIS I, Niel~l 1T (R4, 2N BeH

C. TR ([AGREAL, AW (N BT, TS FleTo]
D. (MA6H OB, TSN« I91, (N1 (G1gS1

1. A€ B

2.B.CY[® D

3ABYISC

4. CH$ D

Question Number : 118 Question Id : 3421237770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TS M ASHBAT ATNRT T PANEHBAT LT [T FT |

A. TR (AOREA, (8 IGNHR], Nad 123

B. IUIB® IINLe, Nielal A1l (Rl 2N~ o

C. TR ([GRIA, AN (N BN, TS Fleq o]
D. (A6 OIPAIE, TSN <91, (Nl (BIgE1

1. AY® B

2.B.CY[$ D
JAABY[$C

4.CYH$ D

Question Number : 119 Question Id : 3421237771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

weT 73 TSRS 1 8 TBAE gl (W 34 |

A. TG I R0 HYRA A1 0O TEF WaFwIS W e 2
(SN TP T PE 2 |

B. (3T (RBICAT 5 G2 % 6 S0 W (RO A1 R[S WG] T2 (&
(O3] IS Wl = |

C. 1% % (TG MRS G (1T |

D. GoTIIE GO el TR B TR Sels Bl (M |

LA CY$D
2.B.CH®D
LABYSC

4.CH$D

Question Number : 119 Question Id : 3421237771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e W TSRS 4 &% VB9 Yl o e |
A. TG 391 0! TR JIF NS HEF aFond I e 20

(OIS TP WP 2 |

B. (O3 (AT B IST2 T 6 W20 W (AT A1 WS WG] 32 A
(Ol IS BelsF{ 27 |

C. 1% G (DTGP SRS G (T |

D, GoTIE G 3o TR BRI TR WS Pl (T |

LA CY$D
2.B.CH®D
3LABYEC

4.CYH® D

Question Number : 120 Question Id : 3421237772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

weT© M TBAIAES <1 &g VS Yo [T Bl |

A. *HINIS PERISTF N(ZH 3Vl ATFH PN Y919 B SN |
B. WM SF *sFICNES N53TY2S NG =4of 17 AT |
C. IIIFOIT IHFRITIZ 61 Q124 |

D. P AEREE NOTYR GGl SO AT B = |
1. ACWH$ D

2.B.CY[¥ D

3. A€ C

4.CYH[$ D

Question Number : 120 Question Id : 3421237772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



weTw (M TSR A€ & USS 1 (T 4] |

A, *FNAS PREFISF T(ZH IVl ATFAF K TR B IR |
B. WA W *[<FICNAS NO3Y2S NG ST=+4f 17 [T |
C

D

. IATIF O JLPIRITYR 5] Bl |
SR NRENHEE FOTYR GG S AR 51T |

1. ACY$ D
2.B.CHI[¥ D
3.AY$C
4.CY$ D

Question Number : 121 Question Id : 3421237773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

OO (M3 OGP0 1] 7% e JE00! (<16 41 |
A, (GIATPI] ALY T5I9 AR6] He LIS ‘INGAQT (ell9p I oz’ Wb AFM
2% |

B. "IN [l I (el I2 G GOty TSI (GRS T |
C. "IN ORI HIROTS 22 (A9 92 Q6P FOR 561 I3F |
D. (GIAIGIE 59 3949 2N He 4@ fefOpIZ: Wb AFM {1258 |

LAY B

LAY C
3.AN$D

4.CY®D

Question Number : 121 Question Id : 3421237773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



©eTs 73] GBI {1 8% Gie< STl (5w 41 |

A, (GG HAY J5IF 0] HLIO IS (619 W1 o2 A6 TP
A2 |

B. " F<as WP fifio<er 16 Gora RinTY (G e |

C. *INHAR TN HROE AL [ 9 [{IN6P FOR TR IR |

D. (GIIG1E 592 3299 AL N2 410 “ellOHI2: W16 2 A12/5H |

[.AY¢ B

2.AY[® C
3L.AY$D

4. CH®D

Question Number : 122 Question Id : 3421237774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

STNTEH e TGS (TP S5 G181 TP« FNTGEm! A1 Ao e
HAFOR —42 75 9910 o1 F | 3 2N 9I6R G890 PRI @46

R .-

INGECRTEE]

B. EH PR WL
C. eI SEmr
D. SITHAI R

LAY$B
2.BY®C
3.CY$D

4.DH$ A

Question Number : 122 Question Id : 3421237774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



NAALFHBE AN (TIENRA IR Q-] SIS FNGRI] 1 AN O] S
HNEORT 92 751 911S o S | 3N 2N IR 0890 PRIG (T4
zd.

A, TR 91

B. EH PR Wb
C. WieTI43 SEEY
D. SIRAIL EGR

LLAY®B
2B C
3.CH<€D

4. DY A

Question Number : 123 Question Id : 3421237775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ISP [ [TIAS FLN AZF LeAG! T T |

A. 6911 69 food®
B. WIIG (U@ 5719

C. [FeeIve Sifodrv

D. W] a1 2y

1. ANY[€ B

[

.BY[¥ C

3.CHI€ D

4 D[ A

Question Number : 123 Question Id : 3421237775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A. 681 Y69 food®
B. VIfG (4@ 519

C. eI Sifogr

D. ST/ [4aI 52 ef

1.AY[$ B

[

BY[<$C
3.CY$D

4. DY A

Question Number : 124 Question Id : 3421237776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AR WP TR TN TZ0TE ARG T JFOA (T4 T3 G0
RERE

A. LRGT0TE Z79

B. T b1 b2 S0
C. PTe2e T (60

D. [&rzGATT

[.AY¢ B

2.BY® C

3CY<ED

4. D¢ A

Question Number : 124 Question Id : 3421237776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AR NSRS TN HZ0T6 ARG F TFCH (459 23 IO
DEREXI

A. PRGIR0TE F79

B. T b1 B2 Sz 0e
C. 32 Ze Y (700

D. [&t3GATT

LAY B
2.BY[¢ C
3 CY€D

4. DY$ A

Question Number : 125 Question Id : 3421237777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

CYHARANTIS NHPS ST SATGTINGAIE LT [N F4 |

A, TR
B. AN=sH]

C. Yol 99
D. 9967 (FIFF

1. A€ B

[

.BY[¥ C

3.CYHI€ D

4. ANY[€ D

Question Number : 125 Question Id : 3421237777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



CYHR AT NGP ST ASTANGAIE LACG! 3 HAT |
A. RO

B. In=Al
C. oo ¥
D. J9G7 (P19

LAY+ B

[

BY[<$C
3.CY$D

4. A€ D

Question Number : 126 Question Id : 3421237778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T BT I 4 TG (TR S L] T A S 278 [Egryzd
G #1417 G0! R Gieiad

TEY THY
GO L |44 3g Pigs Gore
(O | I |0 5 WAR
It I |+ (oo (@ 4Rk 37
Gea IV, | i< {78 Wi

olo|lw|»

1. A-l, B-II, C-I, D-IV

2. A-IL B-IV, C-I, D-III

3. A-IIL B-I1, G-IV, DI

4. A-IV, B-L C-1I, D-III

Question Number : 126 Question Id : 3421237778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



P BY IO 4 B (RN S UG BT T ST 476 {RPapiyed
G~ &% GEO] M Biersa

T T T
St I |44 3F Mge Gopa

A
B |(Momdd | I | 5 weaeR
C
D

|t I1I. | @54 [f%® (@ e 95
| Gean IV. | ol o o

I. A, B-IL C-IL D-IV

2. A-IL, B-IV, C-I, D-II

3. AL B-IL, C-IV, D-I

4. A-IV, B-I, C-II, D-III

Question Number : 127 Question Id : 3421237779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T TG AT - BT RN A UG BT P RS A7G [T
G <1 8% Go00! 1R Siered

:a;!w Iﬂ“w
GRS L |wsfn @i
orqeew GAFNae | 1L | T T6hiE

LI 111, | 1% F= e
ST TR T IV, |90 S

olo|lw|»

l. A-IL B-IIL, C-L, D-IV

e ]

. A-IV. B[, C-I1, D-ITI

3. A-IIL B-IV, C-11, D1

4. A-IV, B-II, C-I, D-III

Question Number : 127 Question Id : 3421237779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



P BY IO 4 B (RN S UG BT T ST 476 {RPapiyed
G~ &% GEO] M Biersa

T 1T

A | TEIREAT ST L |wsfen i

B. | orviqeem GoENiaer | 1. | Rifesee o1ohie
C

D

| oew II1. | P VR Rl
| o SR T IV | O e

1. A-IL B-III, C-L, D-IV

]

. A-IV,B-[, C-I, D-ITI

3. AL B-IV, C-II, D-I

'_‘L}w

. A-IV, B-IL, C-I, D-III

Question Number : 128 Question Id : 3421237780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 128 Question Id : 3421237780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 129 Question Id : 3421237781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 129 Question Id : 3421237781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 130 Question Id : 3421237782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 130 Question Id : 3421237782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 131 Question Id : 3421237783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T TG AT - BT RN A UG BT P RS A7G [T
G <1 8% Go00! 1R Siered

T T PHF
A |SETE L | o1 O 18-S o
B. |WgFq I V51 YoTalq *fan
c. |fowett et o | TFes mae e
D |HfG3 IV. | WS WIF (GHIET T2

1. AL, B-IIT, C-IV, D-1

2. A-IV, B-IL, C-III, D-1

3. A-IIL B-I, C-IV, D-TI

4. A-L B-II, C-IIL D-IV

Question Number : 131 Question Id : 3421237783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 132 Question Id : 3421237784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 132 Question Id : 3421237784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 133 Question Id : 3421237785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 133 Question Id : 3421237785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 134 Question Id : 3421237786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 134 Question Id : 3421237786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 135 Question Id : 3421237787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 135 Question Id : 3421237787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 136 Question Id : 3421237788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 136 Question Id : 3421237788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 137 Question Id : 3421237789 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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Question Number : 137 Question Id : 3421237789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 138 Question Id : 3421237790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 138 Question Id : 3421237790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 139 Question Id : 3421237791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 139 Question Id : 3421237791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



P BY IO 4 B (RN S UG BT T ST 476 {RPapiyed
G~ &% GEO] M Biersa

T R
A |OTNE T 2 Qe | L | (o0 W e e 58
B. |SROATRNOI OHEW | 1L | e
C
D

|yoree weafte R e | I | 7org T
|3 AR WA (AT | IV | 9% T (372

. A-IV,B-IIl,C- 1. D-I
2.A-LB-IV. C-II, D-II

3.AJILB-I,CIILD-1IV
4. A-IL B-IT, C-IV,D-1

Question Number : 140 Question Id : 3421237792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 140 Question Id : 3421237792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TG AT - BT (NERT AP UIG] BT P GRS 478 [y
G 1 &7 GSG AR Gei6d

E‘sw c'ﬂ':w
A | R (G P 19 G PP L Wﬂ” T (G
B. |(FTo0%A (5] bR T90 2910 P I | (255 341
C. | IO ST WIE W[ 599 9Ga4m I | @ oa 3%41
(OTTR, (2 O (G Brads Tarwo 901 PR o | -
B | res IV, | HgearE Tana
1. A-L, B-IV. C-II. D-III
2.AJILB-I,CIIT, D-IV
3. AL B-1L, C-IV, D-1
4. A-IV,B-III, C-1. D-II
Sub-Section Number : 2
Sub-Section Id : 342123307
Question Shuffling Allowed : No

Question Id : 3421237793 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (141 to 145)

Question Label : Comprehension
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Question Number : 141 Question Id : 3421237794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 142 Question Id : 3421237795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 143 Question Id : 3421237796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 144 Question Id : 3421237797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 145 Question Id : 3421237798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Id : 3421237793 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions



Question Number : 141 Question Id : 3421237794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 142 Question Id : 3421237795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 143 Question Id : 3421237796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIS O] % (2RI (SRR S T2 B 2

1. 336 OIIR 9] WZ 91 790 R, W<7 158, SRRl SIS IR S
O % (2R 2 B |

). S O] % (R0 263061 ©R [T W24 F1 [0 917 A5 39
S0 T2 ST |

3. ST O] Y% (2 51074 740 O, 747 5@, MFIN2 T2 G |

4, S{R3I4 S GOTE 2] 779 91 W 9IS, W] S SFNE ST Ol 7
(21T TZR 140G |




Question Number : 144 Question Id : 3421237797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 145 Question Id : 3421237798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 342123308
Question Shuffling Allowed : No

Question Id : 3421237799 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 3421237800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 147 Question Id : 3421237801 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 148 Question Id : 3421237802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 149 Question Id : 3421237803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 150 Question Id : 3421237804 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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Question Id : 3421237799 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 3421237800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 147 Question Id : 3421237801 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 148 Question Id : 3421237802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 149 Question Id : 3421237803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 150 Question Id : 3421237804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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